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(a) take in carbon dioxide dissolved in water. (b) take in oxygen dissolved in water.

(c) absorb nutrients present in water. (d) release waste substances in water.

(13) Earthworms and frogs breathe through their skin because of which the skin of both the
organisms is:




(a) moist and rough. (b) dry and rough.
(¢) dry and slimy. (d) moist and slimy.

(14)The absorption of nutrients and exchange of respiratory gases between blood and tissues
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(4) The rhythmlc expar And Contraction of the heart is cakd
(5) The main excretory product in human beings is urea.

(6) Sweat contains water and salts.

(7) Kidney eliminates the waste materials in the liquid form called urine.

(8) Water reaches great heights in the trees because of suction pull caused by transpiration.

(9) Production of new individuals from the vegetative part of parent is called vegetative
propagation.




(10) A flower may have either male or female reproductive parts. Such flower is called unisexual
flowers.

(11) The transfer of pollen grains from the anther to stigma of the same or of another flower of the
same kind is known as pollination.

(12) The fusion of male and female gametes is termed as fertilisation.

(13) Seed dispersal takes place by means of wind, water and animals.

(14) The leaves o nts have small pore called stomata.
(15) Theli/n so called voice box.
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+* Short Question Answer

1. What are the end products of aerobic respiration.

Ans. During aerobic respiration, carbon dioxide and water are released along with a large amount of
energy.

Glucose + 02 ---- 2 + Water + Energy
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4. Why do we often sneeze when we inhale a lot of dust-laden air?

Answer: The air around us has various types of unwanted particles, such as smoke, dust, pollen etc.
when we inhale; the particles get trapped in the hair present in our nasal cavity. Sometimes these
particles enter the nasal cavity and create irritation that leads to sneezing.
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(a) Name the instrument.




(b) Label the parts A, B and C.

Ans: (a) The given instrument is stethoscope.
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12. Why blood needed by all the parts of a body?

Answer:Blood is needy by all the parts of a body because:
(1) It carries oxygen to all the parts of the body and also carries carbon dioxide back to the lungs.
(i1) It carries digested food to various parts of the body for absorption.

(ii1) It contains platelets which help in the clotting of blood.

(iv) It helps in maintaining constant body temperature.

(v) It transports ho es and help in fighting the body with germs and bac
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Ans: (a) Paheli might not have focused on her breathing during the race. The possible reason for
pain in her legs could be the accumulation of lactic acid in her muscles. During heavy exercise or
running, the muscle cells respire anaerobically due to insufficient supply of oxygen and produce
lactic acid.




(b) The massage improved the circulation of blood leading to increased supply of oxygen to the
muscle cells. The increased oxygen supply helped in complete breakdown of lactic acid into
CO; and water. Hence, she felt comfortable after the massage.

2. Draw a diagram of the human excretory system and label the various parts.
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